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Q-1 (A) Explain Opportunity cost. (07)
OR
What is meant by Relevant and irrelevant cost?
(B) Explain the concept of discrenatory Fixed cost and committed fixed cost? (07)
OR
Explain cost classification on the basis of functions.
Q-2 (A) Ram Ltd uses three types of materials A, B and C for production of ‘X’, the product

Q-3

the relevant monthly data, for the components are as given below: (14)
A B C

Normal usage (in units) 200 150 180
Minimum usage (in units) 100 100 90
Maximum usage (in units) 300 250 270
Re-order Quantity (in units) 750 900 720
Re-order Period (in months) 2to3 3to 4 2t0 3

Calculate for each Component:
(a) Reorder Level (b) Minimum Level (¢) Maximum Level (d) Average Stock Level

OR
Tanushri Ltd. Has seven different items in its inventory The average number of each of
these items held along with their unit-costs, is listed below.

Items number | Average number of units in Inventory | Average cost per unit Rs.
1 20,000 60.80
2 10,000 102.40
3 32,000 11.00
4 28,000 10.28
5 60,000 3.40
6 30,000 3.00
7 20,000 1.30

The company wishes to introduce an A B C inventory system. Suggest a
breakdown of the items into A, B and C classifications.

The extracts from the payroll of Messrs Shah Bros, is as follows: (14)
Number of employees at the beginning of 2017 150
Number of employees at the end of 2017 200
Number of employees resigned 20




Number of employees discharged

Number of employees replaced due to resignations and discharges

5
20

Calculate the labour turnover rate for the factory by different methods.

OR

During first week of April, 2017 the workmen Mr. Rajdeep manufactured 300
articles. He receives wage for a guaranteed 48 hours week at the rate of Rs.4 per hour.
The estimated time to produce one article is 10 minutes and under incentive scheme the
time allowed is increased by 20%, Calculate his gross wages according to: (a) Piece work
with a guaranteed weekly wage, (b) Rowan premium bonus, and (c) Halsey premium

bonus:50% to workman.

Vanita Ltd. have three production departments (A, B and C) and two Service
Departments (D and E) from the following figures extracted from the records of the

company, calculates the overhead rate per labour hour:

(14)
Labour hour: Rs.
Indirect materials 15,000
Indirect wages 10,000
Depreciation on machinery 25,000

Depreciation on buildings 5,000

Rent, rates and taxes 10,000
Electric power for machinery 15,000
Electric power for lighting 500
General expenses 15,000
Total 95,500

OR

Computer the machine — hour rate from the following data for Surplus Ltd.

Cost of machine

Installations charges

Estimated scrap value after the expiry of its life (15 years)
Rent and rates for the shop per month

General Lighting for the shop per month
Insurance premium, for the machine per annum
Repairs and maintenance expenses per annum
Power consumption-10 units per hour

Rate of power per 100 units

Estimated working hours per annum -2,200
This includes setting —up time of 200 hours
Shop supervisor’s salary per month

1,00,000
10,000
5,000
200

300

960
1,000

The machine occupies 1/, of the total area of the shop. The supervisor is expected

to devote 1/ of his time for supervising the machine.




Write Short Note (Any two) (14)
Explain ABC Method of inventory handling

Explain the causes of Labour Turnover

Explain the basis of allocations for overhead

Explain the direct cost and indirect cost
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